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0.2 SOLVING LINCAR EQUATIONS CONTALNING BRACKETS

Newme: Bleck
) WORKING WiTH BRXOKRTS

We will look at 2 DIFFERENT METHODS to solve linear equations that contain

1 Expand the brackets using the distributive property.
2 Then solve the equation as before... Distributive Property
Let a, b and ¢ be real numbers.

ADDITION:

Example #1
Solve. Mx-3

a(b+c)=ab+ac

(b+cla=ba+ca

SUBTRACTION:
a(b-c)=ab-ac

fx+5)=3x+15

(X+5P= 3x+15

~>
3(x-5)= 3x-15

A
(b-c)a=ba-ca (x-5)3= 3x-15
51 Solve. 4(m+3)=40 92 3m-5)=25 93 -5(m-1)=20
tm-15=25
Expond the left side W +15
4me12:40 -
e
Subteoct 12 from both sides > 2
4me12-12:40-12
=133
4m:28 KJ M= -’>|
Divide borh sdes by 4 | Hm-5-e . 2m-5)-25
4m 28 -am+ 10 = &S
4 4 -lo o
m=7 -2m=>\S
2 =
Chaxk yvur snmwor by sobstituting =7 fnte the

teginal equeton
4(7+3)=40

n=7 5 the

v ¥ % s
a) Solve. 2(5x +7)=94 b) Check using substitution.

lox "w:q‘l 2(sx 43> =9
o W a(s56)+¥) =a4

&{@ a( 4o +P) =24
7 10

= a( 43 ) =49
- a4 =auv” :
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METHOD 2: DiVIDe FiRST! e nunlw>
1 Divide by the C()f@lC\fﬁ'\ (

2 Solve the equation like we have in section 6.0 and 6.1,

coe Ecve nt
Example #2 /-‘

Sn]\'c.\.\(x-ﬂ— 10 \

R Adrepihe brackels
?Xg’i 2

in_front of the brackets.

Ao c\a)
~eted
V‘Y\:‘\' %OC@W bokher

ll-pihlcn\th o 94 e)ga-ax:gg(’ﬁ—g} e) 22'57C=9~(I*(93
a) Solve. —2;:; ;7
<

b) Check using substitution.

w_ = (35 +)="94
(o83 =-43 a((-n(m ra>=-94 JEET > S {X v
35;-“ &(-43 )y =-99 & 2
=3 -qY a4V’

©) 5(3-2x) =30 d) W2x -4 =8
3
ax-+H =8
+

3 4y
o?l'—%‘/
P
=22
2 —b3
e) 22—-3xr=2(x+6) f) 7x+2=5(x-
w2 =6x O
+HO i

B) WORKINSG WiTH FRAOTIONS -m

We have worked with fractions already in section 6.1, In this section they look a bit different but
the same principles apply. We will look at TWO DIFFERENT METHODS to work with
fractions.

Unit 6 Linear Equations Page 2



METHOD 1: MULTIPLY BOTH SiDLS BY THL DENOMINATOR (OR LOM)

1 Multiply both sides of the equation by the denominator
2 Then work with The integers to solve the equation. b
Botom numbe r

ZHmul hpt
Example #1 ) ¥ Wf\—;(;r\’-\l\)ﬁf'%és\.

Solve.
X = '}
X 2

d) Check using substitution.

wicy-4  _ %
e

16 - =312
@ -y =% wo-d g
10x -4 =% >
¥
TOx = 100 ab -
1o~

(=10 ¥=8v"
METHOD 2 : BREAK INTO FRAXUTIONS
@ Break the cquation into fractions.
@ Find a common denominator
(@) Then work with the fractions to solve for the unknown value,

Example #2
% @ 2x(+1 L Ax - 02  aeda cemmca
Solve. 3 3;6 =7 m de nomineder
ax N\ - \8
> Y3 T3
- —‘/5

3= _ _§i?
Fa=ts 2
x5 .16 a2 -8
= \&
¥ +5 1o - %
] & 3
‘%’__I(a_::é ‘6:%‘/
2 2
(2%
2= A\ x::l

) KPPLYING EQUATIONS TO 920MRTRY AND ReAL-LiFe AUTiViTieS

Example #1 .\—5 N
A regular pentagonbassidelengih-abaem—H-cach side is 3 cm more ?u\‘g“‘;\:lm
than K’v"';l{\' its original length, the perimeter is 56.2 cm, What is the value of 0
x? A . <
* P=50.2 =S =d =S

axfs :ﬁdﬂkﬂé’h x5
@ 5’(311?5) D0 o7 SEXYY) =562

_ .a 5 —
NS =3¢ ncipm 024 \ 22

K =Hdl.R _
i = .29
&'Ec-,if:a Lo
-' {9(='4./3‘

Example #2
v when on an orienteering trip in the

The amount of food energy recommended per de

mountains can be calculated ue\ins' the formula £ = {96 - T), where E is a measure of the

4
amount of food energy, in C:NoriesZand T is the outside temperature in degrees Celsius. At what
outside temperature would the food energy requirement be:

a)@@ L:';AG'TB b) 4000 Cal? g@’q

4/\ HOOO =
(S(m - & a. _—‘—)>XL| 1000 = \&S(qu:‘-)
=i ( TR -\asT
P I 1LGOO = YACOC
120002 125(Ab=T) - 1zeee
000 = - 3
VAROO0 = 120 —1a977 H
_1ao00 -3 -12S as
- 0,
O =" ST Q+5Jquurmnd
—= T2 L OO0 CaQ .
= s
5000(ad
Required Extra Practice Extension
S ’ #laceg, 2, 3, 4ab,  #1bdfh, 4c, 1d, 20,21
), 10, Tabe,8; 9, 10bd, 14, 18, 19,
Assignment #6.2 pg 221 - 225 10ace, 11;:12, 13, 22
1€ 17 7M.
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Required Extra Practice Extension

’ #laceg, 2, 3, 4cb,  #1bdfh, 4c, 1d, 20,21
, @, Tobe, 18,9, 10bd, 14718719
Assignment #6.2pg 221-225  10ace, 11,12, 13, 2
15, 17, 22a

Unit 6 Linear Equations Page 4




